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Time : 3 Hours] [Max. Marks : 70
1. Write short notes : (any two) 14

(a) Assessee
(b) Previous Year
(c) Dividend
(d) Agricultural Income
(e) Central Board of Direct Taxes
(f) Income Tax Officer
OR
(a) Provision of Income tax for residential status of HUF and Partnership Firms 7
(b) Mr. Robert is an American citizen. Who stayed in India for 130 days during the
previous year 2013-14. Determine his residential status for A.Y. 2014-15 on the

basis of following details of his stay in India. 7
Previous Days
Year

2012-13 100
2011-12 Nil
2010-11 200
2009-10 220
2008-09 111
2007-08 145
2006-07 140
2005-06 135
2004-05 60
2003-04 50

He was never came to India before 01-04-2003.
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2. Write short notes on any two :

(a)
(b)
(©)
(d
(e
(H

2. (a)

(b)

2. From the following particulars of Mrs. Shah compute her taxable income from House

Provisions of Pension under Income Tax Act
Perquisite of Motor Car
Fully taxable allowance
Valuation of Residential House provided by Employer.
Provisions of Income Tax for recognized provident fund.
Deductions from Salary

OR
Mr. Jitendra retired from a private company on 11-08-2013 after service of
32 years and 9 months. At the time of retirement his monthly salary was
T 28,000 and D.A. was 60% of salary (out of which 60% was considered for
retirement benefit). He got an increment of ¥ 1,000 p.m. on 1-4-2013. He
received T 7,00,000 as gratuity. Calculate taxable amount of gratuity.

Mr. Mavlankar is serving in a private firm at Mumbai. His monthly salary was
% 40,000 and D.A. was 25% which is forming part of salary. He received 30%

of basic salary as House Rent Allowance. He paid ¥ 11,000 p.m. as rent of

residential house. Calculate taxable amount of house rent allowance.
OR

property for A.Y. 20-14-15 :

BA-124

Particulars House—-1 | House-2 | House-3
1. Annual value as per municipal 45,000 75,000 90,000
record
2. Fair rent 60,000 90,000 1,10,000
3.  Actual rent received - 60,000 1,20,000
4. Municipal tax paid
- For current year 4,000 6,000 -
- For next year - 6,000 8,000
—  For previous year - - 4,000
5. Insurance Premium 4,000 5,000 6,000
6. Repairs 8,000 8,000 10,000
7.  Interest on Loan 12,000 15,000 18,000
8.  Use of Building Self | Let out for | Let out for
Residence residence business
10

14

14



3.

Calculate taxable income of Business and profession from the following Profit and

Loss A/c. for the year ending 31-3-14 of Ms. Rosy.

Particulars Amt. Particulars Amt.

To Salaries 1,20,000 | Gross profit 5,60,000
To Postage 20,000 | Dividend 30,000
To Depreciation on motor car 70,000 | Bank Interest 20,000
To Depreciation on Machinery 30,000 | Bad Debts recovered 10,000
To Bad Debts 8,000 | Discount 8,000
To Loss on sale of machine
(w.d.v. on 1-4-13 was X 70,000) 10,000
To Household Expenses 60,000
To Bad Debts Reserve 6,000
To Motor car Expenses 24,000
To Net Profit 2,80,000

6,28,000 6,28,000

Other Information

(1) Salary includes ¥ 20,000 paid to Ms. Rosy.

(2) Allowable depreciation on motor car is I 60,000.

(3)  1/4™ motor car is used for personal purpose.

(4) WDV of machinery as on 1-4-13 ¥ 2,00,000. Rate of depreciation is 15%.

(5) Out of bad debts recover, I 5,000 towards bad debts not allowed in past.

BA-124
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3. Mr. Sanjay had purchased a building on 1-4-70 for ¥ 8,00,000 and additional

repairing of ¥ 1,00,000 was incurred. He constructed another floor on the same

building on 1-4-84 for ¥ 3,00,000 and another floor was constructed on 11-8-89 for

% 5,00,000. Fair market value of this house as on 1-4-81 was 12,00,000. This house
was sold for ¥ 2,50,00,000 on 31-12-13. He purchased a new house for ¥ 60,00,000.

Calculate taxable amount of capital gain for A.Y. 2014-15. 14

Index Cost Financial Year

1981-82 100
1984-85 125
1989-90 172
2013-14 939
OR
3. Write short note : (any two) 14
(1)  Grossing up of interest
(1)) Fully exempted securities
(ii1)) Deduction allowed from interest on securities
(iv) Casual Income
(v) Type of Capital Gain
4. (a) Write short note : (any two) 6
(1) Deduction in respect to u/s 80 C of income tax act.
(2) Deduction in respect of medi-claim premium u/s 80 D of IT Act.
(3) Deduction in respect of Donation u/s 80 G of IT act
(4) Deduction for Blind u/s 80-U of IT Act.
BA-124 12



(b)

Write short notes : (any two)

(1) ‘Dealer’ according to VAT Act.

(2) Definition of ‘Sale’ under section 2(23) of VAT Act.
(3) Procedure of Service Tax.

(4) Compulsory registration u/s 2 of VAT Act

5. In the following sub-questions more than one answers are given of which only one

answer is correct. Select the correct answer. (any fourteen)

)]

2

3)

BA-124

The book value of equipments on 1-4-13 was I 1,00,000. One equipment
having book value of ¥ 30,000 was sold on 1-9-13 for ¥ 20,000. On 1-1-14 a
new equipment was purchased for ¥ 40,000. The rate of Dep. is 15%. What

would be the admissible amount of depreciation as per IT Act ?
(a) 15,000 (b) 14,250

(¢) 12,000 (d 316,500

Which of the following expense is disallowed in context to income from

business ?

(a) Sales tax

(b) Income tax

(c) Professional tax

(d) Service tax

How much amount of payment can be made for business expenditure in cash ?

(a) 18,000
(b)y 22,000
(¢) 30,000

(d) < 1,00,000

14
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Within what time another residential house should be purchased for claiming

exemption u/s 54 of long term capital gain from selling of residential house ?
(a) Purchase within 2 years from the date of transfer

(b) Purchase within 3 years from the date of transfer

(c) Purchase 1 year after the date of transfer

(d) Purchase within 2 years before the date of transfer

One asset was purchased on 1-1-88 for ¥ 60,000 and was sold on 1-1-14 for
% 4,90,500. The index cost of 87-88 and 2013-14 are 150 and 939 respectively.

What would be the amount of capital gain ?

(a) 72,900 (b) R 1,14,900

() 95,600 (d) 4,30,500

Shri Jethalal sold jewellary for ¥ 15,60,000 on 1-9-13. This was purchased for ¥
2,16,000 on 1-1-92. From the sale proceeds he purchased residential house for I

12,00,000. Cost inflation index for P.Y. 91-92 and 2013-14 were 199 and 939

respectively. Exempted capital gain for A.Y. 2014-15 will be as under.
(a) < 13,44,000 (b)y ¥ 3,60,000

(c) < 1,44,000 (d) R 1,24,797

Deduction u/s 80 CC D is allowed to the extent of

(a) Employee’s own contribution upto 10% of salary

(b) Employee’s own contribution upto 15% of salary

(c) Employee’s and employer’s contribution upto 10% of salary
(d) Employee’s and employer’s contribution upto 15% of salary

14



(8) What would be the tax liability of an Indian Resident Mr. Nilesh (45 years)
whose total income for A.Y. 2014-15 is ¥ 4,50,000 ?

(a) 25,750 (b)y 25,000

(c) Nil (d) 35,000

(9) Ahmedabad Municipal Corporation is
(a) Firm (b) Individual

(c) Local Authority (d) Body of individual

(10) Which of the following is not income tax authority under the Income Tax Act ?
(a) The Central Board of Direct Taxes
(b) The Income Tax Appellate Tribunal
(c) The Inspectors of Income Tax

(d) The Assessing Officer

(11) Shri Dipal a person of Indian origin, visited India on 24-12-2013 and plan stay
in India upto 30-6-2014. During 4 preceding the previous year 2013-14 he was
in India for 1000 days. Want would be his residential status for A.Y. 2014-15 ?

(a) Resident and ordinary resident
(b) Resident but not ordinary resident

(c) Non-resident

(12) Which of the following transactions does not require ‘Permanent Account

Number compulsory’ ?

(a) Deposit not exceeding I 20,000 in post office savings a/c.

(b) Deposit exceeding ¥ 50,000 with a bank.

(c) Purchase of sim card for mobile.

(d) Purchase of a residential house costing ¥ 10,00,000 in the name of ladies.

BA-124 15 P.T.O.



(13)

(14)

(15)
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Transport allowance under Income Tax Act is
(a) Fully taxable (b) Fully exempt

(c) Exempt upto ¥ 800 p.m. (d) Exempt upto ¥ 10,000 p.a.

Mr. Agrawal’s own house is let out for residence on an annual rent of ¥ 72,000.
Its fair rent is I 80,000. The municipal assessment value is ¥ 60,000 and local

tax paid at 10%. Find out taxable income of house property.

(a) 74,000 (b) 51,800

() 60,000 (d) 72,000

The last date for submitting income tax return by salaried person for A.Y.
2014-15 7

(a) 31% March (b)  30™ April

(¢) 30" June (d) 30™ September
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